fraction +/- (5)

frac. +/- (5)

fraction +/- (5)

1) Work out = + WV () Work out 2 4
() OrK ou g—f-g () OrK ou §+§
7
1) =
) 9
5 1 5 1
(2) Work out 31 (2) Work out 3 1
3
9) 2
) 8
2 3 2 3
(3) Work out R + m (3) Work out R + 10
7
3) 10
2 2 2
(4) Work out 3 + 5 (4) Work out = + 9
8
4) 2
) 9
3 1 3 1
°_Z k 2z
(5) Work out 179 (5) Work out 13
1
5) 2
1 5 1 5
(6) Work out 3 + 9 (6) Work out 3 + 9
8
6) 2
) 9
EO®S0 timelypractice.com SRS Learning Limited



fraction +/- (5)

frac. +/- (5)

fraction +/- (5)

7T 2 answers 7 9
(7) WOI'k out § - g (7) WOI‘k out § - g
1
7 =
) 9
1 3 1 3
(8) Work out 1 + 3 (8) Work out 1 + 3
5
]) 2
) 8
1 1 1 1
(9) Work out 373 (9) Work out 373
2
9) =
) 9
5 1 5 1
(10) WOI‘k out § - g (10) WOI'k out § - g
2
10) =
) 9
3 1 1
(11) Work out 1 + 3 (11) Work out - + 3
7
11) =
) 8
8 1 8 1
- - = 12 k R
(12) Work out 53 (12) Work out 573
5
12) -
) 9
EO®S0 timelypractice.com SRS Learning Limited



